Divide decimals by whole numbers

Divide (follow the ex my le)
1. 2.496+5 2. 4758 +6
0.4992
5) 24960 6) 4758
-20
y 2.496 + 5 475.8 + 6
-l45
46 Answer Answer
.45 0.4992
10
-10
0
In each case, tick the correct a er.
1. What will be the answer to the nearest ten thousandths after dividing 569.9 by 7 ?
80.414 71.4143 81.3143 D 81.4140 81.4143
‘2. What will be the answer as a decimal after dividing 216.3by2? |
108.25 18.15 108.1 208.15 8.15
3. What will be the answer as a decimal after dividing 956.5 by 5 ?
291 161.3 191.03 191.3 1N1.3
4. \What will be the answer as a decimal after dividing 956.5 by 3 ?
DO z848333 | Olzigezzz Oo91322 | Ose1333 | Oos13.22
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Divide decimals bg whole numbers

.Di,viol‘e (fo"oW the éxomple).

2. 4758+ 6

0.4992 L || 79.3

5)2.4960 | | 65 4758
l-20 J | r 42 J
49 ‘ ‘ 2.496 + 5 ‘ |58 475.8 + 6
-45 ! - 54
46 Answer | ‘| 8 Answer
| -45 0.4992 | | | -n8]| 79.3
10 | I A N | | 10|
-10 |
0

> In each case, tick the correct answer.
1. What will be the answer to the nearest ten thousandths after dividing 569.9 by 7 ?
O s0.414z3 | O 7nla1a3 O 81,3143 ] 81.4140 M81.4143

‘2.  What will be the answer as a decimal after dividing 216.3 by 2 ?

g2 Oiwgis  NMiosis Ooosis  [Dsis

3.  What will be the answer as a decimal after dividing 956.5 by 5 ?

O2913 | | Oz | | Ohoro3 M io13 Oms

4. \What will be the answer as a decimal after dividing 956.5 by 3 ?

[ 218.8333 Oz18613.22 0991322 | 0861333 | 95322
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